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[1-4-1] =275 F—PCBDH © 33 44-F hF7unb7==/L ($77) - KK (B : pg/m®)

THETAEE ¢ 2014 EEHE
BB E (MR ~<— ) © 36/36(KMI% : 0) ] S 0.15
B BE (RiR~<—2) : 36/36(KM%E : 0) gL fiE 0.15
B TBRAE : 0.009 B KA 1.9
&N IRME ¢ 0.027 e/ ME tr(0.017)
P HR P VR T T —
Hh 5 N SRR A EE AR M AT e
9/18~9/24 0.14 MV
b8 1 |PIERAIRELR (SN
9/16~9/17 0.035 HV
KL 2 |[fLiE=fir o (FLigT) 9/17~9/18
9/18~9/19
9/1~9/2 tr(0.017) HV
AFR 3 |MEERX—4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 0.15 MV
B R 4 |'EHRBALE EAEBFT (L)
9/2~9/9 0.13 MV
R R 5 |KRWEESHERER YT Z— (Bl
9/2~9/9 0.19 MV
FERS IR 6 | BERIRBTAEBRBEAFTEAT (ARG TH)
9/25~10/2 0.10 MV
TR 7 | MR — AR BRBE RSN E R (R
9/3~9/10 0.29 MV
8 | HAEHCBRELARIEATEAT (JLIRIX)
HORHS 10/19~10/26 0.036 MV
9 INEFEARE
9/8~9/9 0.31 HV
Uiy 10 |[MRJINRERER Y22 — (F&N) 9/9~9/10
9/10~9/11
9/1~9/8 0.33 MV
R 11 BRI R BER A gE AT (R i)
8/25~8/26 0.19 HV
R R 12 | RI—MEERERKNER i) 8/26~8/27
8/27~8/28
8/25~8/26 0.36 HV
& LR 13 | — MR R KME R (HE i) 8/26~8/27
8/27~8/28
9/8~9/9 0.051 HV
)11 I 14 AR EEREEE v % — (&) 9/9~9/10
9/10~9/11
8/26~8/27 0.19 HV
(LAY IR 15 [ IWAL R A R BERF ST (R T) 8/27~8/28
8/28~8/29
9/2~9/9 0.24 MV
=Ygl 16 |R¥FRBREIR M IEET (R )
9/16~9/17 0.086 HV
gt . I 17 (i B R BR BRI ST T (B H5 i) 9/17~9/18
9/18~9/19
0/17~9/24 0.12 MV
Z =il 18 | TR ERIAR (4 d R
9/1~9/2 0.088 HV
—ER 19 | =ERREBREENIEAT (WA 1) 9/2~9/3
9/3~9/4
i H 730 AT B AR WA B B bk PR 9L~-9/2 0.67 Hv
YT 20 i 9/2~9/3
BFgERT (KRBT o3~0/d
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HV
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HV
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9/16
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0.063

HV

25

9/8

9/9

9/9

9/10

9/10

9/11

0.31

HV

26

8/29

9/5

0.33

MV

27

8/29

9/5

0.15

MV

28

9/16

9/17

9/17

9/18

9/18

9/19

0.14

HV
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9/22

9/29

1.9

MV

9/22

9/29

0.18

MV
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9/11

0.16

HV
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9/30
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0.30

HV

32

9/5

9/12

0.081

MV

33
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9/18
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HV

34

9/10

9/17

0.061

MV

35
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9/11
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HV
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9/9

9/9
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HV
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